2019

12 5 60
4 5 20 .
13.00 2) 14.[% 3} 15.2 16.—%

17. (RE#HS 12 )
) 3t =0 67~ -1=0




L 200%(100x26—-50%x24)" 9800

~5.546 >5.024
150x50%x124 x76 1767
97.5% . 6

() 6 4 2

19. (ReARHS-12 %)

() AD (0] OP OB OC. OB AC H GH.
B _ 1
S 2
ABCO OBCD P
OB AC 1
A 0 AD
L
il N =
c 1
il
c 1
0B PB
1
n = L 6
- A _ _
() - = - =3 - =3 - =3 =110 12

2 2 11
( ) (1 7) A 1 2 T =1 —2+le
2= 2+ 2 2= 2+1 21+1 z%z 2 4 _ 2_1=0 2=1 2=2
2
7—{- 2:1_ ................................. 6
() ) (-1o) a0 (, ) (. »)-
_.'_._Z
2 2 2
= +1 1+2 +4 ° +2( “-1)=0
(+1) (1+2°7) *+4 2 +2( *-1)
A=16 *-8(1+2 2)( 2—1)=8 24850
4 2(°-1)
T R T




2 2(27+1)
. [_1%] ................................. 12
21, (RAE#HS 12 5)
O - L)
=1 '( )20 ( ) (—oo +oo) .
<1 ( ) (—oo ) (l +oo) ( 1).
>1 () (—oo 1) ( +oo) (1 )
................................. 6
() vV e[0 +x) ()=-1 e[0 + (), =-1
() >1 0 €fo+e) (), =min{ (0) ()]
()=
()=—— >1 ()=—>0
() (1 +=) ()> M)=-2>-1  ()>-1
(0)=-1 ( Jpo="1
=1 () [0+e) (o= (0)=-1
3- < <1 () e[0 +x) (). :min{ (0) (1)}
(1)= 3,603
(0)=-1 ( )uw="1-
>3- Voe[0+m)  ()Z-T. e 12
22. (RAE#HEN 10 9)
() C *+ ’=4( 20) E Z2+ =1 5
() (2cosa 2sina) ael0 7] A (2cosa —sina)
N =%| || |:%~351na~2cosa:%sin2a
26‘(6[027[]
a=Z A e, 10
4 2



23. (RS 10 )

-4 +2  <-1
C) ()=3] -1+ +1=9-2 +4 -1< <1
4 -2 >1
=1 () =2, 5

2 4244
4244 47 'y 0
24744 B B



